Answers to Daily Basis Assignment of 2" week

Subject : English
Date: 27.04.2020

splash
din
creaking
rustle
patter

uneEwWNR

Date: 28.04.2020

basic
honour
sluggish
upright
precise

unhewWNRE

Date: 29.04.2020

abbreviation
biography
illegible
inaudible
pedestrian

e wWwNR

Date: 30.04.2020

common noun
adjective
pronoun

verb

adverb

uvieEwWNR

Date: 01.05.2020

by
at
in
into
of

unhewWNRE

Date: 02.05.2020

1. inthe southern hemisphere
2. water



3. ingroups
4. they can find their prey within a few feet of the surface
5. find their mate and chicks



Answer of Daily Basis Assighnment

Class-7

Sub- maths

Date- 27.04.2020

1)
2)
3)
4)
5)

9/16 > 13/24

5/6 [(9+16)/30=25/30=5/6]

11/12 [13/4-7/3 = (39-28)/12 =11/12]

5/7 [ other number = product +1 st number]

2% [ Required no. = dividend +quotient]

Date- 28.04.2020

1)
2)
3)
4)
5)

44km [ Req. Distance= 16x 11/4 km]

Unlike fractions [ fractions having different denominators]
3/5<2/3<11/15

7/10 [7/4 +5/2]

Not defined

Date- 29.04.2020

1)

-3/5 [1. Find HCF Of numerator and denominato.

2.divide numerator and denominator by HCF]

2)-6/7 [ “

3)-14 [X= (6x7)/-3=42/-3 =-14]

4)-1/6

5)-3/2 [ Multiplicative inverse of a/b =b/a]

Date- 30.04.202

1)
2)
3)

4)
5)

2 8 3
%5 R
3/5
10 hrs. [ Req.time = 7 x 6]

2 4
21 hrs [ 7/8x24 hrs]
7/100 [ fraction having denominator 10, 100, 1000 etc]

Date- 1.05.2021.

1)
2)
3)
4)
5)

4/5[5/3 x12/25]

11/17  [1/10 x110/17 ]
2/3 litre [ 20/3 +10 ]
Not determinable
Rational number

Date- 2 .05.2020

1)
2)

-3/11 [ If numerator are same then fraction having less denominator is greater]
-2/3 ] find HCF Of numerator and denominator, 2. Divide numerator and denominator
byHCF]



3) 11/105 m[ remaining cloth =5/7 -4/10, each one get =22/70 +3 ]
4) 14/19 [7/3 x6/19]
5) 41/60



SUBJECT-
CHEMISTRY

Q.NO
date-—-27/4/2020

date-2/5/2020
1

U W

DAILY BASIS ASSIGNMENT ANSWER KEY
SESSION 2020-2021
DATE -27/4/2020 TO 2/5/2020
MULTIPLE CHOICE QUESTION

CLASS- -7
RIGHT OPTION WITH EXPLANATION

d) carbonic acid--mineral acid

d) sour milk-its sour taste is due to the presence of lactic acid
d) have sour taste--property of acid

¢) common salt-rest all are either acid or base

b) carbon monoxide--rest all causes acid rain

d) C and D-rest are base

a)B and C-rest is an acid

b)formic acid--its an organic acid

d) phenolphthalein--it is a man made indicator
¢)C and D--property of this indicator towards base

c¢)sulphuric acid--chemical name of oil of vitriol
b)red and blue

c)either acidic or neutral-property of phenolphthalein
d)pure or distilled --pH is 7 in room temperature
c)neutral--pH is 7

b)acids are substances which are sour in taste--property of acid

d)bases are substances which are bitter in taste--property of base

c)bases may or may not be soluble in water--property of base

a)citric acid--naturally present in it

d)blue litmus paper turns green in a basic medium--not the property of blue litmus

b)apple--naturally present in it
a)tea--naturally present in it

¢)nitric acid--due to its corrosive nature
d) phenolphthalein--

c)universal

b)sodium hydroxide and potassium hydroxide--universally accepted due to its property
a)hydrochloric acid and sulphuric acid---universally accepted due to its property
c)antacid--widely used in treatment of indigestion

¢)lemon juice--property of blue litmus

d)baling soda---property of red litmus
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DBA No
DBA-7

DBA-8

DBA-9

DBA-10

DBA-11

DBA-12

EXPLANATION OF DBA-7 TO DBA-12, PHY-7

DATE MCQ No

4/27/2020 MCQ-1
MCQ-2

MCQ-3

MCQ-4

MCQ-5

4/28/2020 MCQ-1
MCQ-2

MCQ-3

MCQ-4

MCQ-5

4/29/2020 MCQ-1
MCQ-2

MCQ-3

MCQ-4

MCQ-5

4/30/2020 MCQ-1
MCQ-2

MCQ-3

MCQ-4

MCQ-5

5/1/2020 MCQ-1
MCQ-2

MCQ-3

MCQ-4

MCQ-5

5/2/2020 MCQ-1
MCQ-2

MCQ-3

MCQ-4

MCQ-5

OPTION

O OO0 09 0 a0 QoY O O QAT OO0 0 AT a0 0T OO aa oo OOT

EXPLANATION
universal truth

origin of measurement
no distance covered
universal truth

all are units of speed
using formula

using formula

using formula
universal truth
universal truth
universal truth

all are units of time
formula

formula

metric system

ratio of distance and time
ratio of distance and time

universal truth

ratio of distance and time

definition
universal truth
metric system

ratio of distance and time

formula
universal truth
formula
universal truth

it is itself a soeed
same formula
formula



Answer key of 11nd week of Multiple choice questions
Social Science STD 7
DBA -7 27.4.2020

1. Aquarium

A natural ecosystem is the interacting system of biotic and abiotic components of
environment.

2 . Road

Human environment consists of human society that includes culture, economy political life
,religion etc.

3. Growing population

Growing population is a threat to environment as it requires more resources.

4. Biosphere

Biosphere is the interactive zone of the other three spheres.

5. Hydrosphere

The liquid component of earth is known as atmosphere that includes oceans, seas ,lakes ponds.
DBA 8. 28.4.2020

1. Air, water, land
Non living things are abiotic components
2. Water vapour
Biotic component is related to living beings.
3. School
A natural ecosystem consists of abiotic and biotic components.

4 . Cactus
Heterotrophs are organisms that depend on plants and animals for food.
5 .Factories
Human environment includes all human creations and activities.
DBA 9. 29.4.2020
1.0zone layer
Ozone layer acts as a shield and protects us from harmful radiation coming from the Sun.

2. Biosphere



Biosphere is also called the zone of life on earth. It is the narrow zone where we find land
water.

3. Autotrophs
Autotrophs are organisms that produce their own food directly from the environment for
example plants.

4. Environment

Excessive cutting of trees has disrupted the natural habitat of many animals.
5. Global warming

Global warming is a rise in temperature of the earth’s atmosphere.

DBA 10. 30.4.2020

1. Aquarium

An ecosystem is a community of living and nonliving things which interact with each other
and function as a unit.

2. Land
Human environment includes all human creations and activities.
3. Road

Natural environment includes both the physical and the biological environment containing
biotic and abiotic components.

4. Growing population

Growing population increases the demands of resources.
5. Lithosphere

Lithosphere is the solid,thin outer covering of the earth.
DBA 11. 31.4.2020

1. 5™ June

Environment day was started in 1972 by the United Nations general assembly. It is
celebrated every year on 5 June.

2. Industrial revolution
The industrial revolution now also known as the first industrial revolution was the
transition to new manufacturing processes in Europe and the United States.

3. All of these

Natural environment includes both the physical and the biological environment containing
biotic and abiotic components.



4. Hydrosphere

Hydrosphere is the domain of water which comprises nearly three fourth of the Earth’s
surface including oceans rivers lakes seas and other water bodies.

5. Environment

The surroundings and the conditions in which we live constitutes our environment.
DBA 12. 1.5.2020

1. Atmosphere

Atmosphere is the blanket of Air which surrounds our planet. It is held to the surface of the
earth by gravitational force.

2. Biotic and abiotic components
The natural environment has two components biotic and abiotic.
3. Chloro fluorocarbon

Chlorofluorocarbon are fully or partly halogenated paraffin hydrocarbons that contain carbon
hydrogen chlorine and fluorine produced as volatile derivative of methane ethane and
propane.

4. Deforestation

Excessive cutting of trees has disrupted the natural habitat of many animals and posted a
threat on environment.

5. Biosphere

Biosphere is the narrow belt encompassing the lithosphere hydrosphere and pause your in
which the living beings exist.
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CLASS-VII SUBJECT - COMPUTER DATE: 03.05.2020 (Sunday)

ANSWERS OF MCQ QUESTIONS

Q. Multiple choice questions (Select the correct one):-
1-Which of thefollowing retains the infor mation it’s storing when the power to the system isturned off?

(A) CPU
(B) ROM
(C) RAM
(D) DIMM

Explanation — Read Only Memory (ROM) is the memory that cannot be changed by a program or user. ROM retains
its memory even after the computer is turned off. For example, ROM stores the instructions for the computer to start up
when it isturned on again.

2-A network of computersand other devices that is confined to arelatively small spaceis called?
(A) Wide Area Network

(B) Local AreaNetwork

(C) Global Network

(D) Peer-to-Peer Network

Explanation — A local-area network (LAN) is a computer network that spans a relatively small area. Most often,
aLAN is confined to a single room, building or group of buildings. Typically, LANs use wired connections to link the
computers to each other and to a variety of peripheral devices such as printers.

3-Every computer connected to the I nternet isidentified by a unique four -part string, known as

() IS
(B) Host name
(C) Domain name

(D) None of the above

Explanation - An Internet Protocol address (IP address) is a numerical label assigned to each device connected to a computer
network that uses the Internet Protocol for communication. An | P address serves two main functions: host or network interface
identification and location addressing.

4-ENIAC wasthe first general-pur pose electronic computer. ENIAC stands for

(A) Electronic Network Interactive Analytic Computer

(B) Electronic Numerical Integrator and Computer
(C) Electronic Network Integrated Analytical Computer
(D) Electronic Numerical Integrated Automatic Computer

Explanation - Electronic Numerical Integrator and Computer was the first electronic general -purpose digital computer. It was
Turing-complete, and able to solve "alarge class of numerical problems" through reprogramming.

5-Which of the following statement is correct?

(A) 1KB = 1024 bytes

(B) 1 MB=2048 bytes

(C) 1 MB = 1000 kilobytes
(D) 1 KB = 1000 bytes

Explanation - The kilobyte has traditionally been used to refer to 1024 bytes, a usage still common. The usage of the metric
prefix kilo for binary multiples arose as a convenience, because 1024 is approximately 1000.

6-Which of the following memories must ber efreshed many times per second?
(A) Static RAM



(8) Dynamic RAM

(C) EPROM
(D) ROM

Explanation - Dynamic RAM must be refreshed many times per second. Memory refresh is the process of periodically reading
information from an area of computer memory and immediately rewriting the read information to the same area without
modification, for the purpose of preserving the information.

7-.PNG refersto

(A) IEGETilE
(B) Movie/animationfile
(C) Audiofile
(D) MS Office document
Explanation - A PNG fileis an image saved in the Portable Network Graphic (PNG) format. It contains a bitmap compressed with

lossless compression similar to a .GIF file. PNG files are commonly used to store web graphics, digital photographs, and images
with transparent backgrounds.

8-USB isa device used to store data and it stands for
(A) Unlimited Service Band

(B) Unlimited Serial Bus

(C) Universal Serial Bus

(D) Universal Service Bus

Explanation - A PNG file is an image saved in the Portable Network Graphic (PNG) format. It contains a
bitmap compressed with lossless compression similar to a .GIF file. PNG files are commonly used to store
web graphics, digital photographs, and images with transparent backgrounds.

9- _ isatechnology that allows telephone callsto be made over computer networkslike the Inter net.
() ViGIR

(B) GSM

(C) Modem

(D) CDMA

Explanation - VolIP is the technology that converts your voice into a digital signal, allowing you to make a call directly from a
computer, a Vol P phone, or other data-driven devices. It includes sending voice info in digital form in discrete packets rather than
by using the traditional circuit-committed protocols of the public switched tel ephone network.
10-Toidentify TCP/IP errorssuch as connection problems command can be used
(A) FTP
(B) [Fiig
(C) POP3
(D) STP
Explanation - Ping is a computer network administration software utility used to test the reach ability of a host on an Internet
Protocol network. It is available for virtually all operating systems that have networking capability, including most embedded
network administration software.
11-A program that runsin the background on your computer, sending infor mation about your browsing habitsto the company that installed it
on your computer iscalled as
(A) Pop-ups
(B) Adware
(C) Crayare

(D) Spyware



Explanation - Coined as a term in September 2004, grayware (or greyware) refers to an unwanted software program (small or
large) that causes damage to a computer system. Anti-spyware and anti-malware programs can be used to remove grayware and
help prevent future grayware from infecting a computer.

12-Software isa set of programs, which isdesigned to perform a well defined function and there aretwo types of softwar e, application and
system. Thefollowing are all application softwar e except for

(A) Microsoft Word

(B) Microsoft Excel

(C) Microsoft Power Point
(D) Microsoft Windows

Explanation - Microsoft Windows is a group of OSs manufactured by Microsoft. Windows is available in 32 and 64-bit versions
and offers a graphical user interface (GUI), multitasking functionalities, virtual memory management capabilities, and support for
several peripheral devices.

13-1 Gigabyte (GB) isegual to
(A) 1024 bytes

(B) 1024 KB

(C) H024NIB

(D) 1024 TB

Explanation - GB is an abbreviation for gigabyte. A gigabyte is a measurement of data storage for computers, tablets, smartphones,
gaming consoles, and other computing devices. In fact, most people have smart phones and have heard of the longer abbreviations
for GB. 1 GB = 1024 MB.

14-The fourth generation computers are based on

(A) Transistor

(B) Integrated circuit

(C) VLSI microprocessor

(D) ULSI microprocessor

Explanation - The period of fourth generation was from 1971-1980. Computers of fourth generation used Very Large Scale

Integrated (VLSI) circuits. VLS circuits having about 5000 transistors and other circuit elements with their associated circuits on a
single chip made it possible to have microcomputers of fourth generation.

15-All the following are computer input devices except for

(A) Keyboard

(B) [PHilitet

(C) Mouse

(D) Joy Stick

Explanation - Printer is an output device. It takes the input from the user and gives the output in the form of a texted document. It
is called hard copy of our document. Printer gives output in form of texted document or graphical document.

16-A CD-RW has a speed rating of 12x 10x 32x. What do the three numbersrefer toin order?

(A) Write, rewrite, read

(B) Read, write, rewrite

(C) Rewrite, read, write

(D) Write, read, rewrite

Explanation - They represent write rewrite read in order of the speed rating given as 12 x 10 x and 32 x. This also represents the
read maximum speed as 32 x, write maximum speed as 12 x and rewrite maximum speed as 10 x.

17-Theinformation stored in is erased when the computer isturned off

(A)ROM

(8) RAM

(C) BIOS



(D) CPU

Explanation - Volatile memory is computer storage that only maintains its data while the device is powered. RAM (random
access memory) is used for primary storage in personal computers isvolatile memory. Volatile memory contrasts with non-
volatile memory, which does not |ose content when power is|lost.

18-Malwareisthe short form for malicious software and used to refer to

(A) Spyware

(B) Worm

(C) Virus

(D) All of the above

Explanation - Malware, or malicious software, is any program or file that is harmful to a computer user. Types of malware can
include computer viruses, worms, Trojan horses and spyware.

19-What isthe best way to protect your hard drive data?

(A) Scanning

(B) Backup

(C) Defragmentation

(D) Delete junk

Explanation - Hard disk backup means making a precise, physica-level copy of somehard drive. All hard

disk backup solutions must have a capability to make bootable disk images and virtual drives. Handy Backup allows such
operations, as well asrealizes any hard disk backup strategy including scheduling, encrypting etc

20-Thefollowing device is used to connect two systems using different protocols
(A) Modem

(B) Repeater

(C) Gateway

(D) Bridge

Explanation - Gateway device is used to connect two systems, especially if the system use different protocols. Unlike less

advanced network hubs, a network switch forwards data only to one or multiple devicesthat need to receive it, rather than
broadcasting the same data out of each of its ports.

21-The computer language used for artificial intelligenceis

(A) FOTRAN
(B) PROLOG

©E
(D) COBOL

Explanation - Gateway device is used to connect two system, especially if the system use different protocols. Unlike less
advanced network hubs, a network switch forwards data only to one or multiple devicesthat need to receive it, rather than
broadcasting the same data out of each of its ports.

22-Open sour ce softwar e is softwar e whose sour ce code is available for modification or enhancement by anyone. Which of the following isan
example of open sour ce softwar e?

(A) Adobe Photoshop

(B) Microsoft Word

(C) Libre Office

(D) Skype

Explanation - LibreOffice is a free and open-source office suite, a project of The Document Foundation. It was forked in 2010
from OpenOffice.org, which was an open-sourced version of the earlier StarOffice..

23-JPEG seen with the .jpg or .jpeg filename extension is commonly used method for compression of digital images. What does JPEG stand for ?



(A) Joint Picture Encoding Graphics
(B) Joint Photographic Experts Group
(C) Joint Photo Edit Grid

(D) Joint Picture Express Grid

Explanation - JPEG stands for “Joint Photographic Experts Group”. It's a standard image format for containing lossy and
compressed image data. Despite the huge reduction in file size JPEG images maintain reasonable image quality.

24-A “URL” isaformatted text string used by web browsers, email clients and other softwar e to identify a network resource on the Internet. It
standsfor

(A) Universal Resource Link

(B) Uniform Resource Locator

(C) Unlimited Resource Locator

(D) Universal Reference Link

Explanation - URL stands for Uniform Resource Locator, and is used to specify addresses on the World Wide Web. A URL is

the fundamental network identification for any resource connected to the web (e.g., hypertext pages, images, and sound files).
The protocol specifies how information from the link is transferred.

25-SD Card isamemory cards used in electronic equipmentsincluding digital camerasand cell phones. What does SD stands for?

(A) Secure Digital

(B) Scan Disk

(C) Short Drive

(D) Slot Disk

Explanation - AnSD Card (Secure Digital Card) is an ultra smal flash memory carddesigned to provide high-

capacity memory in a small size. SD cards are used in many small portable devices such as digital video camcorders, digital
cameras, handheld computers, audio players and mobile phones.

26-A byteisequivalent to

(A) 2 bits

(B) 6 hits

(C) Bibité

(D) 10 bits

Explanation - The byteis a unit of digital information that most commonly consists of eight bits. Historically, the byte was

the number of bits used to encode a single character of text in a computer and for this reason it is the smallest addressable
unit of memory in many computer architectures.

27-A standard computer keyboard has how many keys?

(A) 84

(B) 94

(@]

(D) 114

Explanation - A standard windows keyboard has 104 keys which include aphabetic characters, punctuation symbols,
numbers and a variety of function keys.

28-HTTP standsfor:

(A) Hyper Text Transfer Protocol

(B) Hyper Timed Text Protocol

(C) Hopper Transfer Text Protocol

(D) Hopper Text Timer Protocol

Explanation - Hypertext Transfer Protocol (HTTP) is an application-layer protocol for transmitting hypermedia documents,

such as HTML. It was designed for communication between web browsers and web servers, but it can also be used for other
purposes.



29-The capacity of 3-1/2 inch floppy is:
(A) 1.33MB
(B) HAANE
(C) 1.34MB
(D) 1.43MB

Explanation - The maximum storage capacity of a floppy disk is around 1.44 megabytes
30-A character has how many bits:

(A) 4

®) B

(©) 12

(D) 16

Explanation - An ASCII character in 8-bit ASCII encoding is 8 bits (1 byte)

kkkkkhkkkkkhkkkhkx



Answer to Assignment/class 7 Biology/27/4/2020
) gxplanation:-Nepenthes is an insectivorous plant.
? Explanation :-In the process of photosynthesis carbon dioxide is taken in and oxygen is produced.
K Explanation :-Stomata controls the rate of loss of water to the air.
K Explanation:-lnsects provide nutrients to the plant.
K (E:xplanation:— Mushroom ,yeast and bread mould have saprophytic mode of nutrition.

Answer to Assignment/class 7 Biology/28/4/2020
) Explanation:—Raw materials for photosynthesis include light, water and organic nutrients.
? [E)xplanation:-Guard cells are kidney shaped.
) (E:xplanation :-Chlorophyll is found in chloroplast.
K Explanation:— It grows in soil deficient in nitrogen.
K Explanation :- Carbon dioxide is available in air for photosynthesis.

Answer to Assignment/class 7 Biology/29/4/2020
) éxplanation:-Fungi are grown on rotting wood during the rainy season.
g ?xplanation:- It is the definition of digestion.
K [E)xplanation:—Amoeba is unicellular organism.
K Explanation :-Birds do not have teeth. They use their beaks.
K Explanation :-Calcium is required for healthy bones and teeth.

Answer to Assignment/class 7 Biology/30/4/2020
) Explanation: Nutrition, excretion and respiration are the features of living beings.
? éxplanation:-Cow can digest cellulose carbohydrate because they have enzymes .
K Explanation :-Milk is not obtained from plants.
K Explanation:-Amoeba does not have mouth and digestive system.
K Explanation:-lncisors are used for biting and cutting the food.



Answer to Assignment/class 7 Biology/1/5/2020

1)
2)
3)

4)

Explanation :-Starch is digested by saliva.

Explanation:—Canines are used to tear the food.

(E:xplanation :-Length of small intestine is 7.5m

gxplanation :- Amoeba uses its pseudopodia to capture food particles.

5) A

Explanation:-In large intestine the digestion of food does not take place.

Answer to Assignment/class 7 Biology/2/5/2020

1)
2)
3)
4)

5)

Explanation :-Euglena is heterotrophic organism which can synthesize it’s food.
(E:xplanation:— Leeches are blood sucking parasites.

éxplanation :-It is the definition of Egestion.

Explanation :-Cellulose is the important diet of herbivorous animal.
Explanation:—Bile juice is secreted by liver.



